



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024027

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 YU SLS	SZ01801C SLS-0-(203)A	100115	YUMA	SOUTHEAST	5		Rene Teran

Highway Termini	Location	Work Description
-----------------	----------	------------------

• CITY OF SAN LUIS

• JUAN SANCHEZ BLVD IMPROVEMENTS

• System Enhancement (Engineering)

BID RESULTS FOR 2024027

Bid Opening Date : 11/7/2025, Prequalification Required, Engineer Specialist : Rene Teran

Completion Date:

530 Working Days

The proposed project is located in Yuma County within the City of San Luis along Cesar Chavez Blvd between Escondido Street to Avenue E. The work consists of reconstructing the roadway along Cesar Chavez Blvd to a four lane divided roadway intersection channelization at intersecting streets, drainage facilities, asphaltic concrete, signing, pavement marking, signals, lighting, and other related work. The project also includes a one-lane roundabout at the intersection of Cesar Chavez Blvd and Escondido St / San Luis Plaza Dr.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$43,301,733.00	DEPARTMENT ESTIMATE	\$43,301,733.00
1	+31.7%		\$57,044,316.00	DPE CONSTRUCTION, INC. 1636 E 20TH STREET YUMA, AZ 85365-	\$57,044,316.00
2	+46.7%		\$63,525,777.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$63,525,777.00

Winning Bidder is 31.7% Over Department Estimate (Difference = \$13,742,583.00)

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010011	ACRE	CLEARING AND GRUBBING				
Bid Rank	Department Estimate		13.000	\$2,500.000	\$32,500.00	
1	DPE CONSTRUCTION, INC.			\$3,750.000	\$48,750.00	+50.0%
2	FANN CONTRACTING, INC			\$1,350.000	\$17,550.00	-46.0%
2020007	L.SUM	REMOVAL OF MISCELLANEOUS CONCRETE				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$53,500.000	\$53,500.00	+970.0%
2	FANN CONTRACTING, INC			\$8,035.400	\$8,035.40	+60.7%
2020020	L.FT.	REMOVAL OF CONCRETE CURB				
Bid Rank	Department Estimate		1,576.000	\$12.000	\$18,912.00	
1	DPE CONSTRUCTION, INC.			\$10.000	\$15,760.00	-16.7%
2	FANN CONTRACTING, INC			\$8.000	\$12,608.00	-33.3%
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		11,645.000	\$12.000	\$139,740.00	
1	DPE CONSTRUCTION, INC.			\$6.600	\$76,857.00	-45.0%
2	FANN CONTRACTING, INC			\$8.000	\$93,160.00	-33.3%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		74,998.000	\$5.000	\$374,990.00	
1	DPE CONSTRUCTION, INC.			\$3.000	\$224,994.00	-40.0%
2	FANN CONTRACTING, INC			\$1.500	\$112,497.00	-70.0%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		147,077.000	\$4.000	\$588,308.00	
1	DPE CONSTRUCTION, INC.			\$5.500	\$808,923.50	+37.5%
2	FANN CONTRACTING, INC			\$6.000	\$882,462.00	+50.0%
2020031	SQ.YD.	REMOVAL OF PORTLAND CEMENT CONCRETE PAVEMENT				
Bid Rank	Department Estimate		242.000	\$50.000	\$12,100.00	
1	DPE CONSTRUCTION, INC.			\$45.000	\$10,890.00	-10.0%
2	FANN CONTRACTING, INC			\$40.000	\$9,680.00	-20.0%
2020041	L.FT.	REMOVAL OF PIPE				
Bid Rank	Department Estimate		188.000	\$75.000	\$14,100.00	
1	DPE CONSTRUCTION, INC.			\$65.000	\$12,220.00	-13.3%
2	FANN CONTRACTING, INC			\$68.000	\$12,784.00	-9.3%
2020052	L.FT.	REMOVE (RETAINING WALL)				
Bid Rank	Department Estimate		346.000	\$100.000	\$34,600.00	
1	DPE CONSTRUCTION, INC.			\$45.000	\$15,570.00	-55.0%
2	FANN CONTRACTING, INC			\$130.000	\$44,980.00	+30.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020053	EACH	REMOVE (SIGN PANEL, FOUNDATION & POST)				
Bid Rank	Department Estimate		135.000	\$250.000	\$33,750.00	
1	DPE CONSTRUCTION, INC.			\$120.000	\$16,200.00	-52.0%
2	FANN CONTRACTING, INC			\$495.000	\$66,825.00	+98.0%
2020057	EACH	REMOVE AND SALVAGE (POLYMER SEWER MANHOLE CONE)				
Bid Rank	Department Estimate		2.000	\$4,000.000	\$8,000.00	
1	DPE CONSTRUCTION, INC.			\$3,250.000	\$6,500.00	-18.8%
2	FANN CONTRACTING, INC			\$5,000.000	\$10,000.00	+25.0%
2020060	EACH	REMOVE AND SALVAGE (SPEED RADAR)				
Bid Rank	Department Estimate		2.000	\$1,500.000	\$3,000.00	
1	DPE CONSTRUCTION, INC.			\$6,680.000	\$13,360.00	+345.3%
2	FANN CONTRACTING, INC			\$1,600.000	\$3,200.00	+6.7%
2020101	L.FT.	REMOVE FENCE				
Bid Rank	Department Estimate		1,575.000	\$15.000	\$23,625.00	
1	DPE CONSTRUCTION, INC.			\$8.000	\$12,600.00	-46.7%
2	FANN CONTRACTING, INC			\$7.750	\$12,206.25	-48.3%
2020115	EACH	REMOVE (POLE AND LUMINAIRE)				
Bid Rank	Department Estimate		20.000	\$1,500.000	\$30,000.00	
1	DPE CONSTRUCTION, INC.			\$2,050.000	\$41,000.00	+36.7%
2	FANN CONTRACTING, INC			\$1,750.000	\$35,000.00	+16.7%
2020116	EACH	REMOVE (LUMINAIRE)				
Bid Rank	Department Estimate		10.000	\$1,000.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$450.000	\$4,500.00	-55.0%
2	FANN CONTRACTING, INC			\$185.000	\$1,850.00	-81.5%
2020117	EACH	REMOVE (EXISTING SANITARY SEWER MANHOLE)				
Bid Rank	Department Estimate		1.000	\$8,500.000	\$8,500.00	
1	DPE CONSTRUCTION, INC.			\$7,000.000	\$7,000.00	-17.6%
2	FANN CONTRACTING, INC			\$5,500.000	\$5,500.00	-35.3%
2020118	EACH	REMOVE (EXISTING SANITARY SEWER LIFT STATION)				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	DPE CONSTRUCTION, INC.			\$20,500.000	\$20,500.00	+36.7%
2	FANN CONTRACTING, INC			\$75,000.000	\$75,000.00	+400.0%
2020120	L.FT.	REMOVE (10" DUCTILE IRON PIPE SEWER MAIN)				
Bid Rank	Department Estimate		120.000	\$55.000	\$6,600.00	
1	DPE CONSTRUCTION, INC.			\$88.000	\$10,560.00	+60.0%
2	FANN CONTRACTING, INC			\$200.000	\$24,000.00	+263.6%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020121	L.FT.	REMOVE (10" PVC SEWER MAIN)				
Bid Rank	Department Estimate		5.000	\$55.000	\$275.00	
1	DPE CONSTRUCTION, INC.			\$345.000	\$1,725.00	+527.3%
2	FANN CONTRACTING, INC			\$200.000	\$1,000.00	+263.6%
2020153	L.SUM	REMOVE (AND RELOCATE PRESSURE REDUCING VALVE & STATION & FENCE INCLUDING NEW CONC. SLAB				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	DPE CONSTRUCTION, INC.			\$16,500.000	\$16,500.00	+10.0%
2	FANN CONTRACTING, INC			\$55,000.000	\$55,000.00	+266.7%
2020174	L.SUM	REMOVE (AND SALVAGE WELCOME SIGN)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$3,200.000	\$3,200.00	-36.0%
2	FANN CONTRACTING, INC			\$6,200.000	\$6,200.00	+24.0%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		164,096.000	\$17.000	\$2,789,632.00	
1	DPE CONSTRUCTION, INC.			\$18.500	\$3,035,776.00	+8.8%
2	FANN CONTRACTING, INC			\$36.000	\$5,907,456.00	+111.8%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank	Department Estimate		23,169.000	\$20.000	\$463,380.00	
1	DPE CONSTRUCTION, INC.			\$23.000	\$532,887.00	+15.0%
2	FANN CONTRACTING, INC			\$34.250	\$793,538.25	+71.3%
2080001	SQ.YD.	SEPARATION GEOTEXTILE FABRIC				
Bid Rank	Department Estimate		48.000	\$20.000	\$960.00	
1	DPE CONSTRUCTION, INC.			\$100.000	\$4,800.00	+400.0%
2	FANN CONTRACTING, INC			\$20.000	\$960.00	+0.0%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		55,035.000	\$60.000	\$3,302,100.00	
1	DPE CONSTRUCTION, INC.			\$78.500	\$4,320,247.50	+30.8%
2	FANN CONTRACTING, INC			\$77.000	\$4,237,695.00	+28.3%
4010028	SQ.YD.	PORTLAND CEMENT CONCRETE PAVEMENT (FOR BUS BAY)				
Bid Rank	Department Estimate		880.000	\$175.000	\$154,000.00	
1	DPE CONSTRUCTION, INC.			\$220.000	\$193,600.00	+25.7%
2	FANN CONTRACTING, INC			\$155.000	\$136,400.00	-11.4%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		78.000	\$800.000	\$62,400.00	
1	DPE CONSTRUCTION, INC.			\$550.000	\$42,900.00	-31.3%
2	FANN CONTRACTING, INC			\$740.000	\$57,720.00	-7.5%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		141.000	\$250.000	\$35,250.00	
1	DPE CONSTRUCTION, INC.			\$320.000	\$45,120.00	+28.0%
2	FANN CONTRACTING, INC			\$277.000	\$39,057.00	+10.8%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		78.000	\$900.000	\$70,200.00	
1	DPE CONSTRUCTION, INC.			\$750.000	\$58,500.00	-16.7%
2	FANN CONTRACTING, INC			\$930.000	\$72,540.00	+3.3%
4040163	TON	BLOTTER MATERIAL				
Bid Rank	Department Estimate		231.000	\$125.000	\$28,875.00	
1	DPE CONSTRUCTION, INC.			\$90.000	\$20,790.00	-28.0%
2	FANN CONTRACTING, INC			\$116.000	\$26,796.00	-7.2%
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		899.000	\$225.000	\$202,275.00	
1	DPE CONSTRUCTION, INC.			\$130.000	\$116,870.00	-42.2%
2	FANN CONTRACTING, INC			\$220.000	\$197,780.00	-2.2%
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank	Department Estimate		63,900.000	\$100.000	\$6,390,000.00	
1	DPE CONSTRUCTION, INC.			\$263.000	\$16,805,700.00	+163.0%
2	FANN CONTRACTING, INC			\$120.000	\$7,668,000.00	+20.0%
5011055	L.FT.	PIPE, REINFORCED CONCRETE, CLASS V, 48"				
Bid Rank	Department Estimate		169.000	\$300.000	\$50,700.00	
1	DPE CONSTRUCTION, INC.			\$385.000	\$65,065.00	+28.3%
2	FANN CONTRACTING, INC			\$685.000	\$115,765.00	+128.3%
5011213	L.FT.	PIPE, REINFORCED CONCRETE, CLASS HE III, 14" X 23"				
Bid Rank	Department Estimate		53.000	\$180.000	\$9,540.00	
1	DPE CONSTRUCTION, INC.			\$320.000	\$16,960.00	+77.8%
2	FANN CONTRACTING, INC			\$300.000	\$15,900.00	+66.7%
5012518	L.FT.	STORM DRAIN PIPE, 18"				
Bid Rank	Department Estimate		1,667.000	\$150.000	\$250,050.00	
1	DPE CONSTRUCTION, INC.			\$73.000	\$121,691.00	-51.3%
2	FANN CONTRACTING, INC			\$220.000	\$366,740.00	+46.7%
5012524	L.FT.	STORM DRAIN PIPE, 24"				
Bid Rank	Department Estimate		3,039.000	\$185.000	\$562,215.00	
1	DPE CONSTRUCTION, INC.			\$175.000	\$531,825.00	-5.4%
2	FANN CONTRACTING, INC			\$165.000	\$501,435.00	-10.8%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5014118	EACH	FLARED END SECTION (18") (C-13.20)				
Bid Rank	Department Estimate		2.000	\$2,500.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$3,250.000	\$6,500.00	+30.0%
2	FANN CONTRACTING, INC			\$1,500.000	\$3,000.00	-40.0%
5014124	EACH	FLARED END SECTION (24") (C-13.20)				
Bid Rank	Department Estimate		6.000	\$3,000.000	\$18,000.00	
1	DPE CONSTRUCTION, INC.			\$5,800.000	\$34,800.00	+93.3%
2	FANN CONTRACTING, INC			\$1,900.000	\$11,400.00	-36.7%
5030001	EACH	CONCRETE CATCH BASIN (C-15.10) SINGLE, H=8' OR LESS				
Bid Rank	Department Estimate		3.000	\$9,500.000	\$28,500.00	
1	DPE CONSTRUCTION, INC.			\$10,500.000	\$31,500.00	+10.5%
2	FANN CONTRACTING, INC			\$12,000.000	\$36,000.00	+26.3%
5030002	EACH	CONCRETE CATCH BASIN (C-15.10) SINGLE, H=OVER 8'				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$10,600.000	\$10,600.00	+6.0%
2	FANN CONTRACTING, INC			\$15,500.000	\$15,500.00	+55.0%
5030091	EACH	CONCRETE CATCH BASIN (C-15.40) SUMP ONLY, H=8' OR LESS				
Bid Rank	Department Estimate		3.000	\$12,000.000	\$36,000.00	
1	DPE CONSTRUCTION, INC.			\$9,800.000	\$29,400.00	-18.3%
2	FANN CONTRACTING, INC			\$14,000.000	\$42,000.00	+16.7%
5030601	EACH	CATCH BASIN (C-15.80 FLUSH)				
Bid Rank	Department Estimate		3.000	\$10,000.000	\$30,000.00	
1	DPE CONSTRUCTION, INC.			\$9,500.000	\$28,500.00	-5.0%
2	FANN CONTRACTING, INC			\$13,500.000	\$40,500.00	+35.0%
5030604	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M)				
Bid Rank	Department Estimate		1.000	\$6,000.000	\$6,000.00	
1	DPE CONSTRUCTION, INC.			\$10,000.000	\$10,000.00	+66.7%
2	FANN CONTRACTING, INC			\$15,000.000	\$15,000.00	+150.0%
5030605	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-1, L=3')				
Bid Rank	Department Estimate		3.000	\$7,000.000	\$21,000.00	
1	DPE CONSTRUCTION, INC.			\$8,500.000	\$25,500.00	+21.4%
2	FANN CONTRACTING, INC			\$17,000.000	\$51,000.00	+142.9%
5030606	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-1, L=6')				
Bid Rank	Department Estimate		3.000	\$8,000.000	\$24,000.00	
1	DPE CONSTRUCTION, INC.			\$10,800.000	\$32,400.00	+35.0%
2	FANN CONTRACTING, INC			\$19,500.000	\$58,500.00	+143.8%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5030607	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-1, L=10')				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$10,850.000	\$10,850.00	+8.5%
2	FANN CONTRACTING, INC			\$24,000.000	\$24,000.00	+140.0%
5030608	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-2, L=6')				
Bid Rank	Department Estimate		6.000	\$11,000.000	\$66,000.00	
1	DPE CONSTRUCTION, INC.			\$11,000.000	\$66,000.00	+0.0%
2	FANN CONTRACTING, INC			\$25,250.000	\$151,500.00	+129.5%
5030609	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-2, L=9')				
Bid Rank	Department Estimate		3.000	\$13,000.000	\$39,000.00	
1	DPE CONSTRUCTION, INC.			\$10,900.000	\$32,700.00	-16.2%
2	FANN CONTRACTING, INC			\$39,500.000	\$118,500.00	+203.8%
5030610	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-2, L=12')				
Bid Rank	Department Estimate		2.000	\$14,000.000	\$28,000.00	
1	DPE CONSTRUCTION, INC.			\$20,000.000	\$40,000.00	+42.9%
2	FANN CONTRACTING, INC			\$33,500.000	\$67,000.00	+139.3%
5030611	EACH	CONCRETE CATCH BASIN (MAG DET. 542-1, TYPE M-2, L=16')				
Bid Rank	Department Estimate		2.000	\$15,000.000	\$30,000.00	
1	DPE CONSTRUCTION, INC.			\$25,000.000	\$50,000.00	+66.7%
2	FANN CONTRACTING, INC			\$50,000.000	\$100,000.00	+233.3%
5040569	EACH	IRRIGATION GATE (CANAL GATE)				
Bid Rank	Department Estimate		1.000	\$2,000.000	\$2,000.00	
1	DPE CONSTRUCTION, INC.			\$11,500.000	\$11,500.00	+475.0%
2	FANN CONTRACTING, INC			\$20,000.000	\$20,000.00	+900.0%
5050001	EACH	MANHOLE (C-18.10) (NO. 1) (FOR PIPES 6" TO 36")				
Bid Rank	Department Estimate		15.000	\$15,000.000	\$225,000.00	
1	DPE CONSTRUCTION, INC.			\$12,500.000	\$187,500.00	-16.7%
2	FANN CONTRACTING, INC			\$6,975.000	\$104,625.00	-53.5%
5050202	EACH	RESET FRAME AND COVER FOR MANHOLE (MAG STD. 422-2)				
Bid Rank	Department Estimate		54.000	\$1,500.000	\$81,000.00	
1	DPE CONSTRUCTION, INC.			\$1,600.000	\$86,400.00	+6.7%
2	FANN CONTRACTING, INC			\$1,250.000	\$67,500.00	-16.7%
6010725	SQ.YD.	PORTLAND CEMENT CONCRETE (CLASS S)(9 INCH THICK APRON)				
Bid Rank	Department Estimate		425.000	\$175.000	\$74,375.00	
1	DPE CONSTRUCTION, INC.			\$195.000	\$82,875.00	+11.4%
2	FANN CONTRACTING, INC			\$200.000	\$85,000.00	+14.3%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6016088	EACH	HEADWALL (MAG DET 501, TYPE U)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$34,500.000	\$34,500.00	+245.0%
2	FANN CONTRACTING, INC			\$13,500.000	\$13,500.00	+35.0%
6045011	EACH	ACCESS BARRIER GATE (VEHICULAR GATE)				
Bid Rank	Department Estimate		2.000	\$8,000.000	\$16,000.00	
1	DPE CONSTRUCTION, INC.			\$16,500.000	\$33,000.00	+106.3%
2	FANN CONTRACTING, INC			\$12,500.000	\$25,000.00	+56.3%
6070038	EACH	SLIP BASE				
Bid Rank	Department Estimate		111.000	\$300.000	\$33,300.00	
1	DPE CONSTRUCTION, INC.			\$480.000	\$53,280.00	+60.0%
2	FANN CONTRACTING, INC			\$372.000	\$41,292.00	+24.0%
6070054	L.FT.	SIGN POST (PERFORATED) (2 S)				
Bid Rank	Department Estimate		275.000	\$25.000	\$6,875.00	
1	DPE CONSTRUCTION, INC.			\$13.000	\$3,575.00	-48.0%
2	FANN CONTRACTING, INC			\$25.000	\$6,875.00	+0.0%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		1,297.000	\$27.000	\$35,019.00	
1	DPE CONSTRUCTION, INC.			\$16.000	\$20,752.00	-40.7%
2	FANN CONTRACTING, INC			\$25.000	\$32,425.00	-7.4%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 T)				
Bid Rank	Department Estimate		1,052.000	\$30.000	\$31,560.00	
1	DPE CONSTRUCTION, INC.			\$22.500	\$23,670.00	-25.0%
2	FANN CONTRACTING, INC			\$31.000	\$32,612.00	+3.3%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		219.000	\$500.000	\$109,500.00	
1	DPE CONSTRUCTION, INC.			\$480.000	\$105,120.00	-4.0%
2	FANN CONTRACTING, INC			\$620.000	\$135,780.00	+24.0%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		1,650.000	\$28.000	\$46,200.00	
1	DPE CONSTRUCTION, INC.			\$35.000	\$57,750.00	+25.0%
2	FANN CONTRACTING, INC			\$50.000	\$82,500.00	+78.6%
6080025	SQ.FT.	FLAT SHEET ALUMINUM SIGN PANEL				
Bid Rank	Department Estimate		687.000	\$35.000	\$24,045.00	
1	DPE CONSTRUCTION, INC.			\$42.000	\$28,854.00	+20.0%
2	FANN CONTRACTING, INC			\$150.000	\$103,050.00	+328.6%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6080120	EACH	SIGN (RELOCATE)				
Bid Rank	Department Estimate		1.000	\$300.000	\$300.00	
1	DPE CONSTRUCTION, INC.			\$450.000	\$450.00	+50.0%
2	FANN CONTRACTING, INC			\$3,715.000	\$3,715.00	+1138.3%
6110201	L.FT.	METAL HANDRAIL				
Bid Rank	Department Estimate		1,146.000	\$100.000	\$114,600.00	
1	DPE CONSTRUCTION, INC.			\$110.000	\$126,060.00	+10.0%
2	FANN CONTRACTING, INC			\$97.000	\$111,162.00	-3.0%
7010025	EACH	TEMPORARY IMPACT ATTENUATION DEVICE (IN-LINE ENERGY ABSORBING TERM.)				
Bid Rank	Department Estimate		15.000	\$3,000.000	\$45,000.00	
1	DPE CONSTRUCTION, INC.			\$3,900.000	\$58,500.00	+30.0%
2	FANN CONTRACTING, INC			\$2,890.000	\$43,350.00	-3.7%
7010026	EACH-DAY	TEMPORARY IMPACT ATTENUTATION DEVICE (IN-LINE ENERGY ABSORBING TERM.) (IN USE)				
Bid Rank	Department Estimate		425.000	\$40.000	\$17,000.00	
1	DPE CONSTRUCTION, INC.			\$55.000	\$23,375.00	+37.5%
2	FANN CONTRACTING, INC			\$44.000	\$18,700.00	+10.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		2,873.000	\$25.000	\$71,825.00	
1	DPE CONSTRUCTION, INC.			\$63.000	\$180,999.00	+152.0%
2	FANN CONTRACTING, INC			\$43.000	\$123,539.00	+72.0%
7015051	EACH	OBLITERATE PAVEMENT MARKING (ARROW, SYMBOL OR LEGEND)				
Bid Rank	Department Estimate		57.000	\$100.000	\$5,700.00	
1	DPE CONSTRUCTION, INC.			\$105.000	\$5,985.00	+5.0%
2	FANN CONTRACTING, INC			\$155.000	\$8,835.00	+55.0%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank	Department Estimate		231,847.000	\$0.300	\$69,554.10	
1	DPE CONSTRUCTION, INC.			\$0.550	\$127,515.85	+83.3%
2	FANN CONTRACTING, INC			\$0.500	\$115,923.50	+66.7%
7015091	SQ.FT.	SPECIALTY SIGNS				
Bid Rank	Department Estimate		24.000	\$19.000	\$456.00	
1	DPE CONSTRUCTION, INC.			\$32.000	\$768.00	+68.4%
2	FANN CONTRACTING, INC			\$28.000	\$672.00	+47.4%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		89,192.000	\$0.100	\$8,919.20	
1	DPE CONSTRUCTION, INC.			\$0.150	\$13,378.80	+50.0%
2	FANN CONTRACTING, INC			\$0.150	\$13,378.80	+50.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		321,660.000	\$0.400	\$128,664.00	
1	DPE CONSTRUCTION, INC.			\$0.200	\$64,332.00	-50.0%
2	FANN CONTRACTING, INC			\$0.250	\$80,415.00	-37.5%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		980.000	\$1.000	\$980.00	
1	DPE CONSTRUCTION, INC.			\$1.500	\$1,470.00	+50.0%
2	FANN CONTRACTING, INC			\$0.950	\$931.00	-5.0%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department Estimate		2,201.000	\$1.000	\$2,201.00	
1	DPE CONSTRUCTION, INC.			\$0.650	\$1,430.65	-35.0%
2	FANN CONTRACTING, INC			\$1.000	\$2,201.00	+0.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		41,572.000	\$1.000	\$41,572.00	
1	DPE CONSTRUCTION, INC.			\$3.000	\$124,716.00	+200.0%
2	FANN CONTRACTING, INC			\$1.000	\$41,572.00	+0.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		44,560.000	\$0.300	\$13,368.00	
1	DPE CONSTRUCTION, INC.			\$0.150	\$6,684.00	-50.0%
2	FANN CONTRACTING, INC			\$0.200	\$8,912.00	-33.3%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		321,660.000	\$0.300	\$96,498.00	
1	DPE CONSTRUCTION, INC.			\$0.150	\$48,249.00	-50.0%
2	FANN CONTRACTING, INC			\$0.200	\$64,332.00	-33.3%
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		8,730.000	\$0.500	\$4,365.00	
1	DPE CONSTRUCTION, INC.			\$1.100	\$9,603.00	+120.0%
2	FANN CONTRACTING, INC			\$3.000	\$26,190.00	+500.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		401.000	\$600.000	\$240,600.00	
1	DPE CONSTRUCTION, INC.			\$1,400.000	\$561,400.00	+133.3%
2	FANN CONTRACTING, INC			\$1,060.000	\$425,060.00	+76.7%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		7,217.000	\$0.800	\$5,773.60	
1	DPE CONSTRUCTION, INC.			\$0.550	\$3,969.35	-31.3%
2	FANN CONTRACTING, INC			\$0.550	\$3,969.35	-31.3%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		32,101.000	\$1.300	\$41,731.30	
1	DPE CONSTRUCTION, INC.			\$1.200	\$38,521.20	-7.7%
2	FANN CONTRACTING, INC			\$0.650	\$20,865.65	-50.0%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		1,236.000	\$30.000	\$37,080.00	
1	DPE CONSTRUCTION, INC.			\$23.500	\$29,046.00	-21.7%
2	FANN CONTRACTING, INC			\$21.000	\$25,956.00	-30.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		1,940.000	\$30.000	\$58,200.00	
1	DPE CONSTRUCTION, INC.			\$55.000	\$106,700.00	+83.3%
2	FANN CONTRACTING, INC			\$28.000	\$54,320.00	-6.7%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		2,688.000	\$65.000	\$174,720.00	
1	DPE CONSTRUCTION, INC.			\$85.000	\$228,480.00	+30.8%
2	FANN CONTRACTING, INC			\$52.000	\$139,776.00	-20.0%
7016081	HOUR	FLAGGING SERVICES (DPS)				
Bid Rank	Department Estimate		4,464.000	\$110.000	\$491,040.00	
1	DPE CONSTRUCTION, INC.			\$110.000	\$491,040.00	+0.0%
2	FANN CONTRACTING, INC			\$132.000	\$589,248.00	+20.0%
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		4,464.000	\$110.000	\$491,040.00	
1	DPE CONSTRUCTION, INC.			\$100.000	\$446,400.00	-9.1%
2	FANN CONTRACTING, INC			\$130.000	\$580,320.00	+18.2%
7017020	L.SUM	TEMPORARY AND PORTABLE TRAFFIC CONTROL SIGNAL (INSTALL & REMOVE)				
Bid Rank	Department Estimate		1.000	\$33,000.000	\$33,000.00	
1	DPE CONSTRUCTION, INC.			\$4,700.000	\$4,700.00	-85.8%
2	FANN CONTRACTING, INC			\$8,100.000	\$8,100.00	-75.5%
7017025	DAY	TEMPORARY AND PORTABLE TRAFFIC CONTROL SIGNAL (IN USE)				
Bid Rank	Department Estimate		341.000	\$650.000	\$221,650.00	
1	DPE CONSTRUCTION, INC.			\$115.000	\$39,215.00	-82.3%
2	FANN CONTRACTING, INC			\$380.000	\$129,580.00	-41.5%
7030080	EACH	OBJECT MARKER (M-23) (TYPE 3)				
Bid Rank	Department Estimate		28.000	\$500.000	\$14,000.00	
1	DPE CONSTRUCTION, INC.			\$85.000	\$2,380.00	-83.0%
2	FANN CONTRACTING, INC			\$744.000	\$20,832.00	+48.8%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		124,917.000	\$0.900	\$112,425.30	
1	DPE CONSTRUCTION, INC.			\$0.800	\$99,933.60	-11.1%
2	FANN CONTRACTING, INC			\$0.750	\$93,687.75	-16.7%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		107,914.000	\$0.900	\$97,122.60	
1	DPE CONSTRUCTION, INC.			\$0.800	\$86,331.20	-11.1%
2	FANN CONTRACTING, INC			\$0.750	\$80,935.50	-16.7%
7040072	L.FT.	PAVEMENT MARKING (TRANSVERSE) (THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		24,902.000	\$1.000	\$24,902.00	
1	DPE CONSTRUCTION, INC.			\$1.200	\$29,882.40	+20.0%
2	FANN CONTRACTING, INC			\$1.600	\$39,843.20	+60.0%
7040074	EACH	PAVEMENT SYMBOL (EXTRUDED THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		131.000	\$250.000	\$32,750.00	
1	DPE CONSTRUCTION, INC.			\$233.000	\$30,523.00	-6.8%
2	FANN CONTRACTING, INC			\$217.000	\$28,427.00	-13.2%
7050026	EACH	PAVEMENT MARKING, PREFORMED, LEGEND (ONLY), TYPE I				
Bid Rank	Department Estimate		40.000	\$250.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$350.000	\$14,000.00	+40.0%
2	FANN CONTRACTING, INC			\$897.000	\$35,880.00	+258.8%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		1,649.000	\$5.000	\$8,245.00	
1	DPE CONSTRUCTION, INC.			\$5.000	\$8,245.00	+0.0%
2	FANN CONTRACTING, INC			\$4.750	\$7,832.75	-5.0%
7060015	EACH	PAVEMENT MARKER, RAISED, TYPE D				
Bid Rank	Department Estimate		1,662.000	\$5.000	\$8,310.00	
1	DPE CONSTRUCTION, INC.			\$5.000	\$8,310.00	+0.0%
2	FANN CONTRACTING, INC			\$4.750	\$7,894.50	-5.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		100,862.000	\$0.200	\$20,172.40	
1	DPE CONSTRUCTION, INC.			\$0.400	\$40,344.80	+100.0%
2	FANN CONTRACTING, INC			\$0.200	\$20,172.40	+0.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		74,524.000	\$0.200	\$14,904.80	
1	DPE CONSTRUCTION, INC.			\$0.400	\$29,809.60	+100.0%
2	FANN CONTRACTING, INC			\$0.200	\$14,904.80	+0.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7080205	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (BIKE)				
Bid Rank	Department Estimate		44.000	\$100.000	\$4,400.00	
1	DPE CONSTRUCTION, INC.			\$120.000	\$5,280.00	+20.0%
2	FANN CONTRACTING, INC			\$93.000	\$4,092.00	-7.0%
7080206	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank	Department Estimate		83.000	\$100.000	\$8,300.00	
1	DPE CONSTRUCTION, INC.			\$80.000	\$6,640.00	-20.0%
2	FANN CONTRACTING, INC			\$80.000	\$6,640.00	-20.0%
7080207	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ADA PARKING)				
Bid Rank	Department Estimate		4.000	\$100.000	\$400.00	
1	DPE CONSTRUCTION, INC.			\$250.000	\$1,000.00	+150.0%
2	FANN CONTRACTING, INC			\$185.000	\$740.00	+85.0%
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank	Department Estimate		40.000	\$100.000	\$4,000.00	
1	DPE CONSTRUCTION, INC.			\$96.000	\$3,840.00	-4.0%
2	FANN CONTRACTING, INC			\$94.000	\$3,760.00	-6.0%
7080301	EACH	PAINT BULL NOSE				
Bid Rank	Department Estimate		32.000	\$250.000	\$8,000.00	
1	DPE CONSTRUCTION, INC.			\$145.000	\$4,640.00	-42.0%
2	FANN CONTRACTING, INC			\$155.000	\$4,960.00	-38.0%
7080401	L.FT.	WATERBORNE-TYPE II PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		456,799.000	\$0.200	\$91,359.80	
1	DPE CONSTRUCTION, INC.			\$0.400	\$182,719.60	+100.0%
2	FANN CONTRACTING, INC			\$0.350	\$159,879.65	+75.0%
7080402	L.FT.	WATERBORNE-TYPE II PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		473,550.000	\$0.200	\$94,710.00	
1	DPE CONSTRUCTION, INC.			\$0.400	\$189,420.00	+100.0%
2	FANN CONTRACTING, INC			\$0.350	\$165,742.50	+75.0%
7080406	EACH	WATERBORNE-TYPE II PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank	Department Estimate		46.000	\$300.000	\$13,800.00	
1	DPE CONSTRUCTION, INC.			\$88.000	\$4,048.00	-70.7%
2	FANN CONTRACTING, INC			\$105.000	\$4,830.00	-65.0%
7100200	EACH-DAY	SWZ CMB ASSEMBLY (IN USE)				
Bid Rank	Department Estimate		1,110.000	\$45.000	\$49,950.00	
1	DPE CONSTRUCTION, INC.			\$47.000	\$52,170.00	+4.4%
2	FANN CONTRACTING, INC			\$23.000	\$25,530.00	-48.9%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7100500	EACH-DAY	SWZ SMART ARROW BOARD				
Bid Rank	Department Estimate		564.000	\$50.000	\$28,200.00	
1	DPE CONSTRUCTION, INC.			\$23.500	\$13,254.00	-53.0%
2	FANN CONTRACTING, INC			\$10.000	\$5,640.00	-80.0%
7100501	EACH-DAY	SWZ SPEED FEEDBACK SIGN				
Bid Rank	Department Estimate		1,783.000	\$45.000	\$80,235.00	
1	DPE CONSTRUCTION, INC.			\$44.000	\$78,452.00	-2.2%
2	FANN CONTRACTING, INC			\$10.000	\$17,830.00	-77.8%
7310010	EACH	POLE (TYPE A)				
Bid Rank	Department Estimate		25.000	\$3,500.000	\$87,500.00	
1	DPE CONSTRUCTION, INC.			\$3,530.000	\$88,250.00	+0.9%
2	FANN CONTRACTING, INC			\$3,180.000	\$79,500.00	-9.1%
7310130	EACH	POLE (TYPE Q)				
Bid Rank	Department Estimate		6.000	\$15,000.000	\$90,000.00	
1	DPE CONSTRUCTION, INC.			\$16,270.000	\$97,620.00	+8.5%
2	FANN CONTRACTING, INC			\$20,500.000	\$123,000.00	+36.7%
7310140	EACH	POLE (TYPE R)				
Bid Rank	Department Estimate		17.000	\$16,000.000	\$272,000.00	
1	DPE CONSTRUCTION, INC.			\$22,950.000	\$390,150.00	+43.4%
2	FANN CONTRACTING, INC			\$29,975.000	\$509,575.00	+87.3%
7310186	EACH	POLE (SPECIAL) (APS 8043)				
Bid Rank	Department Estimate		185.000	\$6,000.000	\$1,110,000.00	
1	DPE CONSTRUCTION, INC.			\$4,976.000	\$920,560.00	-17.1%
2	FANN CONTRACTING, INC			\$5,380.000	\$995,300.00	-10.3%
7310190	EACH	POLE (TYPE W)				
Bid Rank	Department Estimate		4.000	\$25,000.000	\$100,000.00	
1	DPE CONSTRUCTION, INC.			\$22,825.000	\$91,300.00	-8.7%
2	FANN CONTRACTING, INC			\$29,725.000	\$118,900.00	+18.9%
7310195	EACH	POST (PEDESTRIAN PUSH BUTTON)				
Bid Rank	Department Estimate		19.000	\$1,200.000	\$22,800.00	
1	DPE CONSTRUCTION, INC.			\$2,025.000	\$38,475.00	+68.8%
2	FANN CONTRACTING, INC			\$1,600.000	\$30,400.00	+33.3%
7310200	EACH	POLE FOUNDATION (TYPE A)				
Bid Rank	Department Estimate		25.000	\$2,200.000	\$55,000.00	
1	DPE CONSTRUCTION, INC.			\$1,260.000	\$31,500.00	-42.7%
2	FANN CONTRACTING, INC			\$1,000.000	\$25,000.00	-54.5%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310310	EACH	POLE FOUNDATION (TYPE Q)				
Bid Rank	Department Estimate		6.000	\$3,000.000	\$18,000.00	
1	DPE CONSTRUCTION, INC.			\$4,890.000	\$29,340.00	+63.0%
2	FANN CONTRACTING, INC			\$4,925.000	\$29,550.00	+64.2%
7310320	EACH	POLE FOUNDATION (TYPE R)				
Bid Rank	Department Estimate		17.000	\$5,000.000	\$85,000.00	
1	DPE CONSTRUCTION, INC.			\$4,900.000	\$83,300.00	-2.0%
2	FANN CONTRACTING, INC			\$5,740.000	\$97,580.00	+14.8%
7310371	EACH	POLE FOUNDATION (TYPE W)				
Bid Rank	Department Estimate		4.000	\$6,000.000	\$24,000.00	
1	DPE CONSTRUCTION, INC.			\$4,900.000	\$19,600.00	-18.3%
2	FANN CONTRACTING, INC			\$5,875.000	\$23,500.00	-2.1%
7310390	EACH	PEDESTRIAN PUSH BUTTON POST FOUNDATION				
Bid Rank	Department Estimate		19.000	\$1,500.000	\$28,500.00	
1	DPE CONSTRUCTION, INC.			\$1,260.000	\$23,940.00	-16.0%
2	FANN CONTRACTING, INC			\$880.000	\$16,720.00	-41.3%
7310551	EACH	MAST ARM (20 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		27.000	\$2,000.000	\$54,000.00	
1	DPE CONSTRUCTION, INC.			\$3,570.000	\$96,390.00	+78.5%
2	FANN CONTRACTING, INC			\$4,590.000	\$123,930.00	+129.5%
7310580	EACH	MAST ARM (35 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		3.000	\$3,500.000	\$10,500.00	
1	DPE CONSTRUCTION, INC.			\$11,700.000	\$35,100.00	+234.3%
2	FANN CONTRACTING, INC			\$15,445.000	\$46,335.00	+341.3%
7310590	EACH	MAST ARM (40 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		3.000	\$4,000.000	\$12,000.00	
1	DPE CONSTRUCTION, INC.			\$13,200.000	\$39,600.00	+230.0%
2	FANN CONTRACTING, INC			\$16,250.000	\$48,750.00	+306.3%
7310600	EACH	MAST ARM (45 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		6.000	\$4,500.000	\$27,000.00	
1	DPE CONSTRUCTION, INC.			\$14,650.000	\$87,900.00	+225.6%
2	FANN CONTRACTING, INC			\$18,000.000	\$108,000.00	+300.0%
7310610	EACH	MAST ARM (50 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		7.000	\$5,000.000	\$35,000.00	
1	DPE CONSTRUCTION, INC.			\$15,900.000	\$111,300.00	+218.0%
2	FANN CONTRACTING, INC			\$19,340.000	\$135,380.00	+286.8%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310620	EACH	MAST ARM (55 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		4.000	\$5,500.000	\$22,000.00	
1	DPE CONSTRUCTION, INC.			\$19,200.000	\$76,800.00	+249.1%
2	FANN CONTRACTING, INC			\$23,070.000	\$92,280.00	+319.5%
7310635	EACH	MAST ARM (60 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		1.000	\$6,000.000	\$6,000.00	
1	DPE CONSTRUCTION, INC.			\$23,500.000	\$23,500.00	+291.7%
2	FANN CONTRACTING, INC			\$28,465.000	\$28,465.00	+374.4%
7310640	EACH	MAST ARM (65 FT.) (STRAIGHT OR TAPERED)				
Bid Rank	Department Estimate		3.000	\$6,500.000	\$19,500.00	
1	DPE CONSTRUCTION, INC.			\$24,000.000	\$72,000.00	+269.2%
2	FANN CONTRACTING, INC			\$28,950.000	\$86,850.00	+345.4%
7310650	EACH	MAST ARM (APS 8043)				
Bid Rank	Department Estimate		191.000	\$1,000.000	\$191,000.00	
1	DPE CONSTRUCTION, INC.			\$360.000	\$68,760.00	-64.0%
2	FANN CONTRACTING, INC			\$3,835.000	\$732,485.00	+283.5%
7310812	EACH	REMOVE AND SALVAGE EXISTING LIGHTING POLES				
Bid Rank	Department Estimate		13.000	\$1,500.000	\$19,500.00	
1	DPE CONSTRUCTION, INC.			\$2,585.000	\$33,605.00	+72.3%
2	FANN CONTRACTING, INC			\$1,646.000	\$21,398.00	+9.7%
7320030	L.FT.	ELECTRICAL CONDUIT (1") (PVC)				
Bid Rank	Department Estimate		3,965.000	\$25.000	\$99,125.00	
1	DPE CONSTRUCTION, INC.			\$15.500	\$61,457.50	-38.0%
2	FANN CONTRACTING, INC			\$42.000	\$166,530.00	+68.0%
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department Estimate		574.000	\$24.000	\$13,776.00	
1	DPE CONSTRUCTION, INC.			\$18.000	\$10,332.00	-25.0%
2	FANN CONTRACTING, INC			\$24.600	\$14,120.40	+2.5%
7320060	L.FT.	ELECTRICAL CONDUIT (2 1/2") (PVC)				
Bid Rank	Department Estimate		2,300.000	\$35.000	\$80,500.00	
1	DPE CONSTRUCTION, INC.			\$18.000	\$41,400.00	-48.6%
2	FANN CONTRACTING, INC			\$29.600	\$68,080.00	-15.4%
7320061	L.FT.	ELECTRIC CONDUIT (2 1/2") (PVC) (APS)				
Bid Rank	Department Estimate		20,700.000	\$25.000	\$517,500.00	
1	DPE CONSTRUCTION, INC.			\$22.500	\$465,750.00	-10.0%
2	FANN CONTRACTING, INC			\$65.750	\$1,361,025.00	+163.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320070	L.FT.	ELECTRICAL CONDUIT (3") (PVC)				
Bid Rank	Department Estimate		26,413.000	\$25.000	\$660,325.00	
1	DPE CONSTRUCTION, INC.			\$23.000	\$607,499.00	-8.0%
2	FANN CONTRACTING, INC			\$39.250	\$1,036,710.25	+57.0%
7320073	L.FT.	ELECTRICAL CONDUIT (2 - 3") (PVC)				
Bid Rank	Department Estimate		3,422.000	\$50.000	\$171,100.00	
1	DPE CONSTRUCTION, INC.			\$28.250	\$96,671.50	-43.5%
2	FANN CONTRACTING, INC			\$45.250	\$154,845.50	-9.5%
7320291	L.FT.	ELECTRICAL CONDUIT (1.25" PVC, GRAY CONDUIT FOR 2-WIRE PATH)				
Bid Rank	Department Estimate		12,140.000	\$5.000	\$60,700.00	
1	DPE CONSTRUCTION, INC.			\$15.500	\$188,170.00	+210.0%
2	FANN CONTRACTING, INC			\$39.500	\$479,530.00	+690.0%
7320420	EACH	PULL BOX (NO. 7)				
Bid Rank	Department Estimate		20.000	\$2,000.000	\$40,000.00	
1	DPE CONSTRUCTION, INC.			\$950.000	\$19,000.00	-52.5%
2	FANN CONTRACTING, INC			\$2,250.000	\$45,000.00	+12.5%
7320421	EACH	PULL BOX (NO. 7) (WITH EXTENSION)				
Bid Rank	Department Estimate		8.000	\$2,000.000	\$16,000.00	
1	DPE CONSTRUCTION, INC.			\$1,300.000	\$10,400.00	-35.0%
2	FANN CONTRACTING, INC			\$2,550.000	\$20,400.00	+27.5%
7320450	EACH	PULL BOX (NO. 7) (FM 2.06)				
Bid Rank	Department Estimate		71.000	\$1,200.000	\$85,200.00	
1	DPE CONSTRUCTION, INC.			\$1,100.000	\$78,100.00	-8.3%
2	FANN CONTRACTING, INC			\$2,025.000	\$143,775.00	+68.8%
7320456	EACH	PULL BOX (RRFB)				
Bid Rank	Department Estimate		11.000	\$2,000.000	\$22,000.00	
1	DPE CONSTRUCTION, INC.			\$810.000	\$8,910.00	-59.5%
2	FANN CONTRACTING, INC			\$1,560.000	\$17,160.00	-22.0%
7320463	EACH	PULL BOX (CITY OF SAN LUIS LIGHTING)				
Bid Rank	Department Estimate		227.000	\$750.000	\$170,250.00	
1	DPE CONSTRUCTION, INC.			\$825.000	\$187,275.00	+10.0%
2	FANN CONTRACTING, INC			\$885.000	\$200,895.00	+18.0%
7320580	L.FT.	CONDUCTOR (BARE BOND)				
Bid Rank	Department Estimate		28,031.000	\$1.500	\$42,046.50	
1	DPE CONSTRUCTION, INC.			\$1.300	\$36,440.30	-13.3%
2	FANN CONTRACTING, INC			\$2.500	\$70,077.50	+66.7%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320651	L.SUM	CONDUCTORS (TRAFFIC SIGNALS)				
Bid Rank	Department Estimate		1.000	\$80,000.000	\$80,000.00	
1	DPE CONSTRUCTION, INC.			\$156,880.000	\$156,880.00	+96.1%
2	FANN CONTRACTING, INC			\$185,000.000	\$185,000.00	+131.3%
7330060	EACH	TRAFFIC SIGNAL FACE (TYPE F)				
Bid Rank	Department Estimate		68.000	\$750.000	\$51,000.00	
1	DPE CONSTRUCTION, INC.			\$1,525.000	\$103,700.00	+103.3%
2	FANN CONTRACTING, INC			\$1,140.000	\$77,520.00	+52.0%
7330070	EACH	TRAFFIC SIGNAL FACE (TYPE G)				
Bid Rank	Department Estimate		41.000	\$1,000.000	\$41,000.00	
1	DPE CONSTRUCTION, INC.			\$1,950.000	\$79,950.00	+95.0%
2	FANN CONTRACTING, INC			\$1,675.000	\$68,675.00	+67.5%
7330135	EACH	TRAFFIC SIGNAL FACE (TYPE R)				
Bid Rank	Department Estimate		5.000	\$1,000.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$1,525.000	\$7,625.00	+52.5%
2	FANN CONTRACTING, INC			\$1,150.000	\$5,750.00	+15.0%
7330138	EACH	TRAFFIC SIGNAL FACE (TYPE T)				
Bid Rank	Department Estimate		14.000	\$1,000.000	\$14,000.00	
1	DPE CONSTRUCTION, INC.			\$1,750.000	\$24,500.00	+75.0%
2	FANN CONTRACTING, INC			\$1,385.000	\$19,390.00	+38.5%
7330210	EACH	TRAFFIC SIGNAL FACE (PEDESTRIAN) (MAN/HAND)				
Bid Rank	Department Estimate		44.000	\$1,000.000	\$44,000.00	
1	DPE CONSTRUCTION, INC.			\$1,250.000	\$55,000.00	+25.0%
2	FANN CONTRACTING, INC			\$820.000	\$36,080.00	-18.0%
7330310	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE II)				
Bid Rank	Department Estimate		80.000	\$400.000	\$32,000.00	
1	DPE CONSTRUCTION, INC.			\$245.000	\$19,600.00	-38.8%
2	FANN CONTRACTING, INC			\$365.000	\$29,200.00	-8.8%
7330330	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE IV)				
Bid Rank	Department Estimate		16.000	\$1,000.000	\$16,000.00	
1	DPE CONSTRUCTION, INC.			\$1,132.000	\$18,112.00	+13.2%
2	FANN CONTRACTING, INC			\$1,000.000	\$16,000.00	+0.0%
7330340	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE V)				
Bid Rank	Department Estimate		15.000	\$1,000.000	\$15,000.00	
1	DPE CONSTRUCTION, INC.			\$1,190.000	\$17,850.00	+19.0%
2	FANN CONTRACTING, INC			\$890.000	\$13,350.00	-11.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7330350	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE VI)				
Bid Rank	Department Estimate		6.000	\$1,000.000	\$6,000.00	
1	DPE CONSTRUCTION, INC.			\$1,250.000	\$7,500.00	+25.0%
2	FANN CONTRACTING, INC			\$1,060.000	\$6,360.00	+6.0%
7330360	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE VII)				
Bid Rank	Department Estimate		4.000	\$1,250.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$1,595.000	\$6,380.00	+27.6%
2	FANN CONTRACTING, INC			\$975.000	\$3,900.00	-22.0%
7330400	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE XI)				
Bid Rank	Department Estimate		41.000	\$1,000.000	\$41,000.00	
1	DPE CONSTRUCTION, INC.			\$850.000	\$34,850.00	-15.0%
2	FANN CONTRACTING, INC			\$394.000	\$16,154.00	-60.6%
7340101	EACH	CONTROL CABINET (ECONOLITE COBALT)				
Bid Rank	Department Estimate		8.000	\$12,500.000	\$100,000.00	
1	DPE CONSTRUCTION, INC.			\$16,000.000	\$128,000.00	+28.0%
2	FANN CONTRACTING, INC			\$96,800.000	\$774,400.00	+674.4%
7340115	EACH	PEDESTAL (ELECTRICAL) (ADOT TYPE 1 FOR SAN LUIS)				
Bid Rank	Department Estimate		4.000	\$10,000.000	\$40,000.00	
1	DPE CONSTRUCTION, INC.			\$8,000.000	\$32,000.00	-20.0%
2	FANN CONTRACTING, INC			\$14,300.000	\$57,200.00	+43.0%
7340120	EACH	METER PEDESTAL CABINET				
Bid Rank	Department Estimate		8.000	\$5,000.000	\$40,000.00	
1	DPE CONSTRUCTION, INC.			\$12,350.000	\$98,800.00	+147.0%
2	FANN CONTRACTING, INC			\$8,935.000	\$71,480.00	+78.7%
7340125	EACH	SERVICE PEDESTAL CABINET FOUNDATION				
Bid Rank	Department Estimate		4.000	\$4,000.000	\$16,000.00	
1	DPE CONSTRUCTION, INC.			\$4,000.000	\$16,000.00	+0.0%
2	FANN CONTRACTING, INC			\$3,330.000	\$13,320.00	-16.8%
7340251	EACH	CONTROLLER (COBALT ATC)				
Bid Rank	Department Estimate		8.000	\$20,000.000	\$160,000.00	
1	DPE CONSTRUCTION, INC.			\$53,250.000	\$426,000.00	+166.3%
2	FANN CONTRACTING, INC			\$16,600.000	\$132,800.00	-17.0%
7350060	EACH	PEDESTRIAN PUSH BUTTON				
Bid Rank	Department Estimate		44.000	\$800.000	\$35,200.00	
1	DPE CONSTRUCTION, INC.			\$2,425.000	\$106,700.00	+203.1%
2	FANN CONTRACTING, INC			\$3,020.000	\$132,880.00	+277.5%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7350200	L.SUM	VIDEO DETECTION SYSTEM (2-CAMERA)				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	DPE CONSTRUCTION, INC.			\$260,000.000	\$260,000.00	+766.7%
2	FANN CONTRACTING, INC			\$404,000.000	\$404,000.00	+1246.7%
7350551	EACH	OPTICOM PRE-EMPTION UNIT				
Bid Rank	Department Estimate		6.000	\$1,000.000	\$6,000.00	
1	DPE CONSTRUCTION, INC.			\$20,200.000	\$121,200.00	+1920.0%
2	FANN CONTRACTING, INC			\$7,900.000	\$47,400.00	+690.0%
7360030	EACH	LUMINAIRE (HORIZONTAL MOUNT) (HPS 250 WATT)				
Bid Rank	Department Estimate		3.000	\$12,000.000	\$36,000.00	
1	DPE CONSTRUCTION, INC.			\$1,800.000	\$5,400.00	-85.0%
2	FANN CONTRACTING, INC			\$2,240.000	\$6,720.00	-81.3%
7360110	EACH	LUMINAIRE (APS 8043)				
Bid Rank	Department Estimate		191.000	\$1,000.000	\$191,000.00	
1	DPE CONSTRUCTION, INC.			\$3,550.000	\$678,050.00	+255.0%
2	FANN CONTRACTING, INC			\$1,180.000	\$225,380.00	+18.0%
7360113	EACH	LUMINAIRE (HOLOPHANE DECORATIVE PENDANT)				
Bid Rank	Department Estimate		24.000	\$1,500.000	\$36,000.00	
1	DPE CONSTRUCTION, INC.			\$4,025.000	\$96,600.00	+168.3%
2	FANN CONTRACTING, INC			\$4,780.000	\$114,720.00	+218.7%
7360131	EACH	STREET LIGHT (SITE LIGHT FOR LIFT STATION)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$9,500.000	\$9,500.00	+90.0%
2	FANN CONTRACTING, INC			\$11,025.000	\$11,025.00	+120.5%
7360160	EACH	POWER SUPPLY (BATTERY BACKUP)				
Bid Rank	Department Estimate		8.000	\$10,000.000	\$80,000.00	
1	DPE CONSTRUCTION, INC.			\$34,500.000	\$276,000.00	+245.0%
2	FANN CONTRACTING, INC			\$12,450.000	\$99,600.00	+24.5%
7370455	L.SUM	MISCELLANEOUS ELECTRICAL (LIGHTING RECORD DRAWINGS)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$12,900.000	\$12,900.00	+29.0%
2	FANN CONTRACTING, INC			\$15,925.000	\$15,925.00	+59.3%
7379044	L.SUM	TEMPORARY LIGHTING AND POWER				
Bid Rank	Department Estimate		1.000	\$25,000.000	\$25,000.00	
1	DPE CONSTRUCTION, INC.			\$28,800.000	\$28,800.00	+15.2%
2	FANN CONTRACTING, INC			\$205,800.000	\$205,800.00	+723.2%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8030104	SQ.YD.	DECOMPOSED GRANITE (1" SCREENED, WHITE ROSE)				
Bid Rank	Department Estimate		12,251.000	\$20.000	\$245,020.00	
1	DPE CONSTRUCTION, INC.			\$12.500	\$153,137.50	-37.5%
2	FANN CONTRACTING, INC			\$39.500	\$483,914.50	+97.5%
8030106	SQ.YD.	DECOMPOSED GRANITE (RESTORATION AREA)				
Bid Rank	Department Estimate		1,221.000	\$20.000	\$24,420.00	
1	DPE CONSTRUCTION, INC.			\$15.000	\$18,315.00	-25.0%
2	FANN CONTRACTING, INC			\$44.500	\$54,334.50	+122.5%
8061065	EACH	TREE (24" BOX)				
Bid Rank	Department Estimate		497.000	\$500.000	\$248,500.00	
1	DPE CONSTRUCTION, INC.			\$665.000	\$330,505.00	+33.0%
2	FANN CONTRACTING, INC			\$480.000	\$238,560.00	-4.0%
8061068	EACH	TREE (36" BOX)				
Bid Rank	Department Estimate		36.000	\$700.000	\$25,200.00	
1	DPE CONSTRUCTION, INC.			\$1,550.000	\$55,800.00	+121.4%
2	FANN CONTRACTING, INC			\$1,856.000	\$66,816.00	+165.1%
8061298	EACH	SHRUB (FIVE GALLON)				
Bid Rank	Department Estimate		2,846.000	\$35.000	\$99,610.00	
1	DPE CONSTRUCTION, INC.			\$142.000	\$404,132.00	+305.7%
2	FANN CONTRACTING, INC			\$46.000	\$130,916.00	+31.4%
8061299	EACH	SHRUB (15 GALLON)				
Bid Rank	Department Estimate		184.000	\$55.000	\$10,120.00	
1	DPE CONSTRUCTION, INC.			\$319.000	\$58,696.00	+480.0%
2	FANN CONTRACTING, INC			\$204.000	\$37,536.00	+270.9%
8061382	EACH	AGAVE (12" TO 18" IN HEIGHT)				
Bid Rank	Department Estimate		95.000	\$55.000	\$5,225.00	
1	DPE CONSTRUCTION, INC.			\$150.000	\$14,250.00	+172.7%
2	FANN CONTRACTING, INC			\$371.250	\$35,268.75	+575.0%
8061424	EACH	YUCCA (FIVE GALLON)				
Bid Rank	Department Estimate		26.000	\$55.000	\$1,430.00	
1	DPE CONSTRUCTION, INC.			\$113.000	\$2,938.00	+105.5%
2	FANN CONTRACTING, INC			\$724.000	\$18,824.00	+1216.4%
8061631	EACH	CACTUS (PRICKLY PEAR)				
Bid Rank	Department Estimate		73.000	\$55.000	\$4,015.00	
1	DPE CONSTRUCTION, INC.			\$84.000	\$6,132.00	+52.7%
2	FANN CONTRACTING, INC			\$415.000	\$30,295.00	+654.5%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8062001	L.FT.	HEADER (CONCRETE)				
Bid Rank	Department Estimate		240.000	\$35.000	\$8,400.00	
1	DPE CONSTRUCTION, INC.			\$48.000	\$11,520.00	+37.1%
2	FANN CONTRACTING, INC			\$125.000	\$30,000.00	+257.1%
8070001	L.SUM	LANDSCAPING ESTABLISHMENT				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	DPE CONSTRUCTION, INC.			\$115,000.000	\$115,000.00	+283.3%
2	FANN CONTRACTING, INC			\$564,000.000	\$564,000.00	+1780.0%
8080044	EACH	FLOW METER (ASSEMBLY WITH MASTER VALVE)				
Bid Rank	Department Estimate		5.000	\$1,700.000	\$8,500.00	
1	DPE CONSTRUCTION, INC.			\$8,500.000	\$42,500.00	+400.0%
2	FANN CONTRACTING, INC			\$5,750.000	\$28,750.00	+238.2%
8080049	EACH	EMITTER (ASSEMBLY) (MULTI OUTLET)				
Bid Rank	Department Estimate		1,430.000	\$50.000	\$71,500.00	
1	DPE CONSTRUCTION, INC.			\$110.000	\$157,300.00	+120.0%
2	FANN CONTRACTING, INC			\$68.000	\$97,240.00	+36.0%
8080050	EACH	BUBBLER HEAD				
Bid Rank	Department Estimate		34.000	\$250.000	\$8,500.00	
1	DPE CONSTRUCTION, INC.			\$130.000	\$4,420.00	-48.0%
2	FANN CONTRACTING, INC			\$475.000	\$16,150.00	+90.0%
8080133	EACH	QUICK COUPLING VALVE (1")				
Bid Rank	Department Estimate		5.000	\$600.000	\$3,000.00	
1	DPE CONSTRUCTION, INC.			\$660.000	\$3,300.00	+10.0%
2	FANN CONTRACTING, INC			\$1,095.000	\$5,475.00	+82.5%
8080141	EACH	CONTROLLER (AUTOMATIC) (WITH ENCLOSURE SS PEDESTAL CELLULAR COMMS AND DECODERS)				
Bid Rank	Department Estimate		5.000	\$20,000.000	\$100,000.00	
1	DPE CONSTRUCTION, INC.			\$17,850.000	\$89,250.00	-10.8%
2	FANN CONTRACTING, INC			\$71,750.000	\$358,750.00	+258.8%
8080168	EACH	CONTROL VALVE (REMOTE) (ELECTRIC) (1")				
Bid Rank	Department Estimate		81.000	\$950.000	\$76,950.00	
1	DPE CONSTRUCTION, INC.			\$2,350.000	\$190,350.00	+147.4%
2	FANN CONTRACTING, INC			\$1,485.000	\$120,285.00	+56.3%
8080201	EACH	RELOCATE (MULTIMEDIA BOARD)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	DPE CONSTRUCTION, INC.			\$19,635.000	\$19,635.00	+96.4%
2	FANN CONTRACTING, INC			\$2,540.000	\$2,540.00	-74.6%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8080238	EACH	GATE VALVE (10" RESILIENT GATE VALVE, CITY OF YUMA STD 5-065, 5-075)				
Bid Rank	Department Estimate		12.000	\$5,500.000	\$66,000.00	
1	DPE CONSTRUCTION, INC.			\$8,800.000	\$105,600.00	+60.0%
2	FANN CONTRACTING, INC			\$7,800.000	\$93,600.00	+41.8%
8080239	EACH	GATE VALVE (8" RESILIENT VALVE, CITY OF YUMA STD 5-065, 5-075)				
Bid Rank	Department Estimate		1.000	\$5,500.000	\$5,500.00	
1	DPE CONSTRUCTION, INC.			\$7,750.000	\$7,750.00	+40.9%
2	FANN CONTRACTING, INC			\$6,400.000	\$6,400.00	+16.4%
8080240	EACH	GATE VALVE (6" RESILIENT GATE VALVE, CITY OF YUMA 5-065, 5-075)				
Bid Rank	Department Estimate		2.000	\$5,500.000	\$11,000.00	
1	DPE CONSTRUCTION, INC.			\$6,025.000	\$12,050.00	+9.5%
2	FANN CONTRACTING, INC			\$4,650.000	\$9,300.00	-15.5%
8080243	EACH	FLUSH LINE ASSEMBLY (3/4")				
Bid Rank	Department Estimate		161.000	\$250.000	\$40,250.00	
1	DPE CONSTRUCTION, INC.			\$100.000	\$16,100.00	-60.0%
2	FANN CONTRACTING, INC			\$168.000	\$27,048.00	-32.8%
8080263	EACH	VALVE (BALL)(1-1/2")				
Bid Rank	Department Estimate		25.000	\$700.000	\$17,500.00	
1	DPE CONSTRUCTION, INC.			\$1,050.000	\$26,250.00	+50.0%
2	FANN CONTRACTING, INC			\$1,200.000	\$30,000.00	+71.4%
8080264	EACH	VALVE (BALL)(1")				
Bid Rank	Department Estimate		4.000	\$650.000	\$2,600.00	
1	DPE CONSTRUCTION, INC.			\$890.000	\$3,560.00	+36.9%
2	FANN CONTRACTING, INC			\$1,225.000	\$4,900.00	+88.5%
8080313	L.FT.	PIPE (PVC) (3/4") (SCHEDULE 40)				
Bid Rank	Department Estimate		56,932.000	\$2.000	\$113,864.00	
1	DPE CONSTRUCTION, INC.			\$9.000	\$512,388.00	+350.0%
2	FANN CONTRACTING, INC			\$6.000	\$341,592.00	+200.0%
8080324	L.FT.	PIPE (PVC) (1") (SCHEDULE 40)				
Bid Rank	Department Estimate		1,755.000	\$6.000	\$10,530.00	
1	DPE CONSTRUCTION, INC.			\$13.500	\$23,692.50	+125.0%
2	FANN CONTRACTING, INC			\$8.000	\$14,040.00	+33.3%
8080344	L.FT.	PIPE (PVC) (1 1/2") (SCHEDULE 40)				
Bid Rank	Department Estimate		12,400.000	\$6.000	\$74,400.00	
1	DPE CONSTRUCTION, INC.			\$18.000	\$223,200.00	+200.0%
2	FANN CONTRACTING, INC			\$8.750	\$108,500.00	+45.8%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8080360	L.FT.	PIPE (PVC) (2") (SCHEDULE 40 SLEEVE)				
Bid Rank	Department Estimate		640.000	\$30.000	\$19,200.00	
1	DPE CONSTRUCTION, INC.			\$22.500	\$14,400.00	-25.0%
2	FANN CONTRACTING, INC			\$29.500	\$18,880.00	-1.7%
8080378	L.FT.	PIPE (PVC) (6") (SCHEDULE 40 SLEEVE)				
Bid Rank	Department Estimate		585.000	\$60.000	\$35,100.00	
1	DPE CONSTRUCTION, INC.			\$35.500	\$20,767.50	-40.8%
2	FANN CONTRACTING, INC			\$109.500	\$64,057.50	+82.5%
8080380	L.FT.	PIPE (PVC) (3") (SCHEDULE 40 SLEEVE)				
Bid Rank	Department Estimate		882.000	\$40.000	\$35,280.00	
1	DPE CONSTRUCTION, INC.			\$23.000	\$20,286.00	-42.5%
2	FANN CONTRACTING, INC			\$41.500	\$36,603.00	+3.8%
8080389	L.FT.	PIPE (PVC) (4") (SCHEDULE 40 SLEEVE)				
Bid Rank	Department Estimate		1,000.000	\$50.000	\$50,000.00	
1	DPE CONSTRUCTION, INC.			\$28.000	\$28,000.00	-44.0%
2	FANN CONTRACTING, INC			\$109.500	\$109,500.00	+119.0%
8080655	EACH	RELOCATE FIRE HYDRANT				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	DPE CONSTRUCTION, INC.			\$4,850.000	\$4,850.00	-3.0%
2	FANN CONTRACTING, INC			\$15,250.000	\$15,250.00	+205.0%
8080991	L.FT.	WATER MAIN (6" DIA C-900 PVC WATERMAIN)				
Bid Rank	Department Estimate		12.000	\$150.000	\$1,800.00	
1	DPE CONSTRUCTION, INC.			\$1,125.000	\$13,500.00	+650.0%
2	FANN CONTRACTING, INC			\$1,100.000	\$13,200.00	+633.3%
8080992	L.FT.	WATER MAIN (8" DIA C-900 PVC WATERMAIN)				
Bid Rank	Department Estimate		36.000	\$150.000	\$5,400.00	
1	DPE CONSTRUCTION, INC.			\$800.000	\$28,800.00	+433.3%
2	FANN CONTRACTING, INC			\$650.000	\$23,400.00	+333.3%
8080993	L.FT.	WATER MAIN (10" DIA C-900 PVC WATERMAIN)				
Bid Rank	Department Estimate		942.000	\$150.000	\$141,300.00	
1	DPE CONSTRUCTION, INC.			\$178.000	\$167,676.00	+18.7%
2	FANN CONTRACTING, INC			\$235.000	\$221,370.00	+56.7%
8080994	L.FT.	WATER MAIN (12" DIA C-900 PVC WATERMAIN)				
Bid Rank	Department Estimate		15.000	\$150.000	\$2,250.00	
1	DPE CONSTRUCTION, INC.			\$2,000.000	\$30,000.00	+1233.3%
2	FANN CONTRACTING, INC			\$1,200.000	\$18,000.00	+700.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8090186	L.FT.	SEWER PIPE (10" DIA SDR 35 PVC SEWERMAIN)				
Bid Rank	Department Estimate		127.000	\$150.000	\$19,050.00	
1	DPE CONSTRUCTION, INC.			\$145.000	\$18,415.00	-3.3%
2	FANN CONTRACTING, INC			\$1,700.000	\$215,900.00	+1033.3%
8090187	L.FT.	SEWER PIPE (12" DIA SDR 35 PVC SEWER MAIN)				
Bid Rank	Department Estimate		66.000	\$200.000	\$13,200.00	
1	DPE CONSTRUCTION, INC.			\$255.000	\$16,830.00	+27.5%
2	FANN CONTRACTING, INC			\$270.000	\$17,820.00	+35.0%
8090188	L.FT.	SEWER PIPE (8" DIA SDR 35 PVC SEWER MAIN)				
Bid Rank	Department Estimate		2.000	\$100.000	\$200.00	
1	DPE CONSTRUCTION, INC.			\$3,800.000	\$7,600.00	+3700.0%
2	FANN CONTRACTING, INC			\$5,300.000	\$10,600.00	+5200.0%
8091111	EACH	MANHOLE, SANITARY SEWER, 4' DIA.				
Bid Rank	Department Estimate		1.000	\$25,000.000	\$25,000.00	
1	DPE CONSTRUCTION, INC.			\$44,800.000	\$44,800.00	+79.2%
2	FANN CONTRACTING, INC			\$25,400.000	\$25,400.00	+1.6%
8091113	EACH	MANHOLE, SANITARY SEWER, 5' DIA.				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	DPE CONSTRUCTION, INC.			\$107,500.000	\$107,500.00	+258.3%
2	FANN CONTRACTING, INC			\$55,000.000	\$55,000.00	+83.3%
8091115	EACH	MANHOLE, SANITARY SEWER (12" REINFORCED PRE-CAST POLYMER FLAT TOP WITH ECCENTRIC OPENING)				
Bid Rank	Department Estimate		2.000	\$6,000.000	\$12,000.00	
1	DPE CONSTRUCTION, INC.			\$5,800.000	\$11,600.00	-3.3%
2	FANN CONTRACTING, INC			\$15,000.000	\$30,000.00	+150.0%
8091116	EACH	MANHOLE, SANITARY SEWER (LIFT STATION WET WELL, 5' DIA POLYMER CONCRETE SEWER MH, CITY OF YUMA STD 6-025)				
Bid Rank	Department Estimate		1.000	\$80,000.000	\$80,000.00	
1	DPE CONSTRUCTION, INC.			\$722,000.000	\$722,000.00	+802.5%
2	FANN CONTRACTING, INC			\$74,750.000	\$74,750.00	-6.6%
8101014	L.FT.	EROSION CONTROL (CURB INLET PROTECTION)				
Bid Rank	Department Estimate		270.000	\$30.000	\$8,100.00	
1	DPE CONSTRUCTION, INC.			\$16.000	\$4,320.00	-46.7%
2	FANN CONTRACTING, INC			\$12.000	\$3,240.00	-60.0%
8101018	SQ.YD.	EROSION CONTROL (CONST. ENTRANCE / EXIT GRAVEL PAD)				
Bid Rank	Department Estimate		2,000.000	\$25.000	\$50,000.00	
1	DPE CONSTRUCTION, INC.			\$29.000	\$58,000.00	+16.0%
2	FANN CONTRACTING, INC			\$28.000	\$56,000.00	+12.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101029	CU.YD.	EROSION CONTROL (ROCK MULCH) (GRADATION C)				
Bid Rank	Department Estimate		39.000	\$80.000	\$3,120.00	
1	DPE CONSTRUCTION, INC.			\$195.990	\$7,643.61	+145.0%
2	FANN CONTRACTING, INC			\$280.000	\$10,920.00	+250.0%
8101050	L.FT.	EROSION CONTROL (WATTLE)(20")				
Bid Rank	Department Estimate		23,605.000	\$7.000	\$165,235.00	
1	DPE CONSTRUCTION, INC.			\$6.000	\$141,630.00	-14.3%
2	FANN CONTRACTING, INC			\$5.000	\$118,025.00	-28.6%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$4,250,000.000	\$4,250,000.00	
1	DPE CONSTRUCTION, INC.			\$2,311,596.650	\$2,311,596.65	-45.6%
2	FANN CONTRACTING, INC			\$6,300,000.000	\$6,300,000.00	+48.2%
9020004	L.FT.	CHAIN LINK FENCE, TYPE 1 (72")				
Bid Rank	Department Estimate		39.000	\$50.000	\$1,950.00	
1	DPE CONSTRUCTION, INC.			\$120.000	\$4,680.00	+140.0%
2	FANN CONTRACTING, INC			\$117.500	\$4,582.50	+135.0%
9030008	L.FT.	FENCE (CITY OF YUMA DET 1-040)				
Bid Rank	Department Estimate		420.000	\$100.000	\$42,000.00	
1	DPE CONSTRUCTION, INC.			\$160.000	\$67,200.00	+60.0%
2	FANN CONTRACTING, INC			\$154.500	\$64,890.00	+54.5%
9030044	EACH	FENCE GATE (CITY OF YUMA DET 1-040)				
Bid Rank	Department Estimate		1.000	\$4,000.000	\$4,000.00	
1	DPE CONSTRUCTION, INC.			\$7,500.000	\$7,500.00	+87.5%
2	FANN CONTRACTING, INC			\$7,180.000	\$7,180.00	+79.5%
9030045	EACH	FENCE GATE (STEEL TUBE, TYPE 1 (8' HIGH)(16' WIDE))				
Bid Rank	Department Estimate		1.000	\$4,000.000	\$4,000.00	
1	DPE CONSTRUCTION, INC.			\$12,200.000	\$12,200.00	+205.0%
2	FANN CONTRACTING, INC			\$11,750.000	\$11,750.00	+193.8%
9030134	SQ.FT.	CONCRETE VALLEY GUTTER				
Bid Rank	Department Estimate		8,841.000	\$30.000	\$265,230.00	
1	DPE CONSTRUCTION, INC.			\$24.000	\$212,184.00	-20.0%
2	FANN CONTRACTING, INC			\$19.500	\$172,399.50	-35.0%
9080031	L.FT.	CONCRETE CURB (C-05.10) (TYPE G)				
Bid Rank	Department Estimate		187.000	\$50.000	\$9,350.00	
1	DPE CONSTRUCTION, INC.			\$52.000	\$9,724.00	+4.0%
2	FANN CONTRACTING, INC			\$70.000	\$13,090.00	+40.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080101	L.FT.	CONCRETE CURB AND GUTTER, TYPE A (MAG DET. 220-1)				
Bid Rank	Department Estimate		24,791.000	\$35.000	\$867,685.00	
1	DPE CONSTRUCTION, INC.			\$29.000	\$718,939.00	-17.1%
2	FANN CONTRACTING, INC			\$47.500	\$1,177,572.50	+35.7%
9080103	L.FT.	CONCRETE CURB AND GUTTER, TYPE C (MAG DET. 220-1)				
Bid Rank	Department Estimate		298.000	\$60.000	\$17,880.00	
1	DPE CONSTRUCTION, INC.			\$80.000	\$23,840.00	+33.3%
2	FANN CONTRACTING, INC			\$83.000	\$24,734.00	+38.3%
9080107	L.FT.	CONCRETE SINGLE CURB (MAG DET. 222)				
Bid Rank	Department Estimate		22,413.000	\$40.000	\$896,520.00	
1	DPE CONSTRUCTION, INC.			\$23.000	\$515,499.00	-42.5%
2	FANN CONTRACTING, INC			\$44.000	\$986,172.00	+10.0%
9080108	L.FT.	CONCRETE SINGLE CURB (MAG DET. 222)(TYPE A) (MAG DET 222)(TYPE A)(MODIFIED FOR BUS BAY)				
Bid Rank	Department Estimate		885.000	\$50.000	\$44,250.00	
1	DPE CONSTRUCTION, INC.			\$40.000	\$35,400.00	-20.0%
2	FANN CONTRACTING, INC			\$62.000	\$54,870.00	+24.0%
9080241	SQ.FT.	CONCRETE SIDEWALK (MAG DET. 230)				
Bid Rank	Department Estimate		129,206.000	\$10.000	\$1,292,060.00	
1	DPE CONSTRUCTION, INC.			\$8.000	\$1,033,648.00	-20.0%
2	FANN CONTRACTING, INC			\$12.000	\$1,550,472.00	+20.0%
9080295	SQ.FT.	CONCRETE SIDEWALK RAMP				
Bid Rank	Department Estimate		1,013.000	\$25.000	\$25,325.00	
1	DPE CONSTRUCTION, INC.			\$38.000	\$38,494.00	+52.0%
2	FANN CONTRACTING, INC			\$24.000	\$24,312.00	-4.0%
9080297	SQ.FT.	CONCRETE SIDEWALK RAMP (SPECIAL DETAIL C)				
Bid Rank	Department Estimate		660.000	\$25.000	\$16,500.00	
1	DPE CONSTRUCTION, INC.			\$38.000	\$25,080.00	+52.0%
2	FANN CONTRACTING, INC			\$23.000	\$15,180.00	-8.0%
9080299	SQ.FT.	CONCRETE SIDEWALK RAMP (TYPE A)				
Bid Rank	Department Estimate		8,880.000	\$25.000	\$222,000.00	
1	DPE CONSTRUCTION, INC.			\$20.000	\$177,600.00	-20.0%
2	FANN CONTRACTING, INC			\$22.000	\$195,360.00	-12.0%
9080303	SQ.FT.	CONCRETE DRIVEWAY				
Bid Rank	Department Estimate		5,884.000	\$25.000	\$147,100.00	
1	DPE CONSTRUCTION, INC.			\$30.000	\$176,520.00	+20.0%
2	FANN CONTRACTING, INC			\$19.000	\$111,796.00	-24.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080350	SQ.FT.	CONCRETE DRIVEWAY (MAG DET. 250-1 & 250-2)				
Bid Rank	Department Estimate		11,269.000	\$20.000	\$225,380.00	
1	DPE CONSTRUCTION, INC.			\$22.500	\$253,552.50	+12.5%
2	FANN CONTRACTING, INC			\$19.000	\$214,111.00	-5.0%
9090003	EACH	SURVEY MONUMENT (MAG DET 120)				
Bid Rank	Department Estimate		13.000	\$1,000.000	\$13,000.00	
1	DPE CONSTRUCTION, INC.			\$1,500.000	\$19,500.00	+50.0%
2	FANN CONTRACTING, INC			\$1,285.000	\$16,705.00	+28.5%
9090033	EACH	RESET FRAME AND COVER FOR VALVE BOX (MAG DET 120)				
Bid Rank	Department Estimate		92.000	\$1,000.000	\$92,000.00	
1	DPE CONSTRUCTION, INC.			\$900.000	\$82,800.00	-10.0%
2	FANN CONTRACTING, INC			\$990.000	\$91,080.00	-1.0%
9100008	L.FT.	CONCRETE BARRIER (HALF)(C-10.52)(WITH 4.5' GUTTER)				
Bid Rank	Department Estimate		318.000	\$200.000	\$63,600.00	
1	DPE CONSTRUCTION, INC.			\$500.000	\$159,000.00	+150.0%
2	FANN CONTRACTING, INC			\$900.000	\$286,200.00	+350.0%
9130001	CU.YD.	RIPRAP (DUMPED)				
Bid Rank	Department Estimate		27.000	\$400.000	\$10,800.00	
1	DPE CONSTRUCTION, INC.			\$110.000	\$2,970.00	-72.5%
2	FANN CONTRACTING, INC			\$250.000	\$6,750.00	-37.5%
9140036	EACH	TRASH RACK (MAG DET 502-1)				
Bid Rank	Department Estimate		1.000	\$1,500.000	\$1,500.00	
1	DPE CONSTRUCTION, INC.			\$6,500.000	\$6,500.00	+333.3%
2	FANN CONTRACTING, INC			\$3,500.000	\$3,500.00	+133.3%
9140110	L.FT.	WALL (BLOCK)				
Bid Rank	Department Estimate		74.000	\$150.000	\$11,100.00	
1	DPE CONSTRUCTION, INC.			\$175.000	\$12,950.00	+16.7%
2	FANN CONTRACTING, INC			\$365.000	\$27,010.00	+143.3%
9140138	SQ.FT.	WALL (GRAVITY BLOCK)				
Bid Rank	Department Estimate		239.000	\$250.000	\$59,750.00	
1	DPE CONSTRUCTION, INC.			\$170.000	\$40,630.00	-32.0%
2	FANN CONTRACTING, INC			\$54.000	\$12,906.00	-78.4%
9140178	SQ.FT.	RETAINING WALL (REINFORCED CONCRETE CANTILEVER)				
Bid Rank	Department Estimate		11,412.000	\$170.000	\$1,940,040.00	
1	DPE CONSTRUCTION, INC.			\$225.000	\$2,567,700.00	+32.4%
2	FANN CONTRACTING, INC			\$440.000	\$5,021,280.00	+158.8%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9210011	SQ.YD.	MEDIAN PAVING				
Bid Rank	Department Estimate		55.000	\$200.000	\$11,000.00	
1	DPE CONSTRUCTION, INC.			\$185.000	\$10,175.00	-7.5%
2	FANN CONTRACTING, INC			\$210.000	\$11,550.00	+5.0%
9210100	SQ.YD.	CONCRETE UNIT PAVERS				
Bid Rank	Department Estimate		1,365.000	\$150.000	\$204,750.00	
1	DPE CONSTRUCTION, INC.			\$200.000	\$273,000.00	+33.3%
2	FANN CONTRACTING, INC			\$210.000	\$286,650.00	+40.0%
9230003	HOUR	ON-THE-JOB TRAINING WITH GOALS				
Bid Rank	Department Estimate		4,800.000	\$3.000	\$14,400.00	
1	DPE CONSTRUCTION, INC.			\$3.000	\$14,400.00	+0.0%
2	FANN CONTRACTING, INC			\$3.000	\$14,400.00	+0.0%
9240015	L.SUM	FORCE ACCOUNT WORK (PROVIDE ELECTRICAL CONNECTIONS)				
Bid Rank	Department Estimate		1.000	\$320,000.000	\$320,000.00	
1	DPE CONSTRUCTION, INC.			\$320,000.000	\$320,000.00	+0.0%
2	FANN CONTRACTING, INC			\$320,000.000	\$320,000.00	+0.0%
9240038	SQ.FT.	MISCELLANEOUS WORK (DECORATIVE INTERCONNECTED PAVEMENT MARKING)				
Bid Rank	Department Estimate		5,380.000	\$100.000	\$538,000.00	
1	DPE CONSTRUCTION, INC.			\$13.000	\$69,940.00	-87.0%
2	FANN CONTRACTING, INC			\$229.000	\$1,232,020.00	+129.0%
9240050	L.SUM	MISCELLANEOUS WORK (SLIDING GATE RECONSTRUCTION)				
Bid Rank	Department Estimate		1.000	\$60,208.000	\$60,208.00	
1	DPE CONSTRUCTION, INC.			\$7,050.000	\$7,050.00	-88.3%
2	FANN CONTRACTING, INC			\$9,500.000	\$9,500.00	-84.2%
9240051	L.SUM	MISCELLANEOUS WORK (ONSITE BIOLOGIST)				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	DPE CONSTRUCTION, INC.			\$250,000.000	\$250,000.00	+1566.7%
2	FANN CONTRACTING, INC			\$62,000.000	\$62,000.00	+313.3%
9240052	L.SUM	MISCELLANEOUS WORK (REMOVE AND SALVAGE TRAFFIC SIGNALS AND LOAD CENTER CABINETS)				
Bid Rank	Department Estimate		1.000	\$60,000.000	\$60,000.00	
1	DPE CONSTRUCTION, INC.			\$68,000.000	\$68,000.00	+13.3%
2	FANN CONTRACTING, INC			\$92,000.000	\$92,000.00	+53.3%
9240053	L.SUM	MISCELLANEOUS WORK (3" & 4" PIPE AND APPURTENANCES FOR LIFT STATION)				
Bid Rank	Department Estimate		1.000	\$15,001.650	\$15,001.65	
1	DPE CONSTRUCTION, INC.			\$12,900.000	\$12,900.00	-14.0%
2	FANN CONTRACTING, INC			\$95,000.000	\$95,000.00	+533.3%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240112	L.FT.	MISCELLANEOUS WORK (2-WIRE IRRIGATION CONTROL WIRE)				
Bid Rank	Department Estimate		12,140.000	\$5.000	\$60,700.00	
1	DPE CONSTRUCTION, INC.			\$6.000	\$72,840.00	+20.0%
2	FANN CONTRACTING, INC			\$7.500	\$91,050.00	+50.0%
9240117	SQ.FT.	MISCELLANEOUS WORK (CONCRETE SIDEWALK RAMP, TYPE C)				
Bid Rank	Department Estimate		83.000	\$25.000	\$2,075.00	
1	DPE CONSTRUCTION, INC.			\$50.000	\$4,150.00	+100.0%
2	FANN CONTRACTING, INC			\$24.500	\$2,033.50	-2.0%
9240118	SQ.FT.	MISCELLANEOUS WORK (ARTIFICIAL TURF)				
Bid Rank	Department Estimate		915.000	\$50.000	\$45,750.00	
1	DPE CONSTRUCTION, INC.			\$41.000	\$37,515.00	-18.0%
2	FANN CONTRACTING, INC			\$32.500	\$29,737.50	-35.0%
9240119	EACH	MISCELLANEOUS WORK (2-WIRE PATH GROUNDING)				
Bid Rank	Department Estimate		15.000	\$500.000	\$7,500.00	
1	DPE CONSTRUCTION, INC.			\$1,620.000	\$24,300.00	+224.0%
2	FANN CONTRACTING, INC			\$4,500.000	\$67,500.00	+800.0%
9240129	SQ.YD.	MISCELLANEOUS WORK (TURF RESTORATION)				
Bid Rank	Department Estimate		765.000	\$10.000	\$7,650.00	
1	DPE CONSTRUCTION, INC.			\$15.000	\$11,475.00	+50.0%
2	FANN CONTRACTING, INC			\$69.250	\$52,976.25	+592.5%
9240134	EACH	MISCELLANEOUS WORK (RRFB ASSEMBLY)				
Bid Rank	Department Estimate		6.000	\$20,000.000	\$120,000.00	
1	DPE CONSTRUCTION, INC.			\$12,000.000	\$72,000.00	-40.0%
2	FANN CONTRACTING, INC			\$14,000.000	\$84,000.00	-30.0%
9240135	EACH	MISCELLANEOUS WORK (Q/R-POLE DECORATIVE BASE COVER)				
Bid Rank	Department Estimate		20.000	\$2,900.000	\$58,000.00	
1	DPE CONSTRUCTION, INC.			\$3,650.000	\$73,000.00	+25.9%
2	FANN CONTRACTING, INC			\$4,225.000	\$84,500.00	+45.7%
9240136	EACH	MISCELLANEOUS WORK (W-POLE DECORATIVE BASE COVER)				
Bid Rank	Department Estimate		4.000	\$3,300.000	\$13,200.00	
1	DPE CONSTRUCTION, INC.			\$4,000.000	\$16,000.00	+21.2%
2	FANN CONTRACTING, INC			\$4,625.000	\$18,500.00	+40.2%
9240139	SQ.YD.	MISCELLANEOUS WORK (IRRIGATION RESTORATION)				
Bid Rank	Department Estimate		765.000	\$40.000	\$30,600.00	
1	DPE CONSTRUCTION, INC.			\$13.500	\$10,327.50	-66.3%
2	FANN CONTRACTING, INC			\$67.000	\$51,255.00	+67.5%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240142	CU.YD.	MISCELLANEOUS WORK (REMOVE SLURRY BACKFILL)				
Bid Rank	Department Estimate		73.000	\$300.000	\$21,900.00	
1	DPE CONSTRUCTION, INC.			\$385.000	\$28,105.00	+28.3%
2	FANN CONTRACTING, INC			\$66.500	\$4,854.50	-77.8%
9240144	L.FT.	MISCELLANEOUS WORK (4" DIA. C-900 PVC SEWER FORCE MAIN)				
Bid Rank	Department Estimate		18.000	\$200.000	\$3,600.00	
1	DPE CONSTRUCTION, INC.			\$335.000	\$6,030.00	+67.5%
2	FANN CONTRACTING, INC			\$590.000	\$10,620.00	+195.0%
9240163	L.FT.	MISCELLANEOUS WORK (TEMPORARY LIZARD BARRIER FENCE)				
Bid Rank	Department Estimate		31,680.000	\$10.000	\$316,800.00	
1	DPE CONSTRUCTION, INC.			\$26.000	\$823,680.00	+160.0%
2	FANN CONTRACTING, INC			\$25.000	\$792,000.00	+150.0%
9240164	L.FT.	MISCELLANEOUS WORK (2' CMU WALL)				
Bid Rank	Department Estimate		991.000	\$250.000	\$247,750.00	
1	DPE CONSTRUCTION, INC.			\$128.000	\$126,848.00	-48.8%
2	FANN CONTRACTING, INC			\$220.000	\$218,020.00	-12.0%
9240165	L.FT.	MISCELLANEOUS WORK (2' CMU WALL WITH 4' STEEL FENCE)				
Bid Rank	Department Estimate		2,344.000	\$300.000	\$703,200.00	
1	DPE CONSTRUCTION, INC.			\$172.000	\$403,168.00	-42.7%
2	FANN CONTRACTING, INC			\$282.000	\$661,008.00	-6.0%
9240166	L.FT.	MISCELLANEOUS WORK (3' STEEL FENCE)				
Bid Rank	Department Estimate		285.000	\$400.000	\$114,000.00	
1	DPE CONSTRUCTION, INC.			\$110.000	\$31,350.00	-72.5%
2	FANN CONTRACTING, INC			\$111.000	\$31,635.00	-72.3%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$475,000.000	\$475,000.00	
1	DPE CONSTRUCTION, INC.			\$710,000.000	\$710,000.00	+49.5%
2	FANN CONTRACTING, INC			\$557,000.000	\$557,000.00	+17.3%
9240171	EACH	MISCELLANEOUS WORK (A-POLE DECORATIVE BASE COVER)				
Bid Rank	Department Estimate		23.000	\$900.000	\$20,700.00	
1	DPE CONSTRUCTION, INC.			\$565.000	\$12,995.00	-37.2%
2	FANN CONTRACTING, INC			\$740.000	\$17,020.00	-17.8%
9240181	SQ.YD.	MISCELLANEOUS WORK (DECOMPOSED GRANITE, 1" SCREENED, MOHAWK BROWN)				
Bid Rank	Department Estimate		49,859.000	\$20.000	\$997,180.00	
1	DPE CONSTRUCTION, INC.			\$13.500	\$673,096.50	-32.5%
2	FANN CONTRACTING, INC			\$21.000	\$1,047,039.00	+5.0%

*** Bid Tabs for Proposal Pamphlet 2024027 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$750,000.000	\$750,000.00	
1	DPE CONSTRUCTION, INC.			\$912,695.390	\$912,695.39	+21.7%
2	FANN CONTRACTING, INC			\$457,000.000	\$457,000.00	-39.1%
9260002	MONTH	ENGINEERS FIELD OFFICE (PROJECT)				
Bid Rank	Department Estimate		28.000	\$5,000.000	\$140,000.00	
1	DPE CONSTRUCTION, INC.			\$5,500.000	\$154,000.00	+10.0%
2	FANN CONTRACTING, INC			\$3,100.000	\$86,800.00	-38.0%
9280037	L.FT.	GROUND-IN RUMBLE STRIP (12 INCH)				
Bid Rank	Department Estimate		19,309.000	\$0.750	\$14,481.75	
1	DPE CONSTRUCTION, INC.			\$1.000	\$19,309.00	+33.3%
2	FANN CONTRACTING, INC			\$0.400	\$7,723.60	-46.7%